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TEV-T

I) Which following code does not match
Writer

1) Sadashiv
2) Jagjiwan

3) Nayanchandrasuri

4) Karam Chand

1) ~ ~ ~;fflt~?
#mrcfi

I)~
2) \Jlll;:#lCl'1

3) ~~Wt
4) ~~

Books

Amer Kavya Vanshawali

Ajitodaya

Hammir Maha Kavya

Vanshotkirtan Kavyam

~

iW=R ~ ci!tN
ijJDtnlGlI

m '"I(;ICflI&J

ci!tn~d'1Cbf&J'tf-,
2) Ram Saikashm (chert) and quarte named stone age tools are found in :-

1) Kalibanga

3) Balakot

2) Hadappa

4) Aahar

1) Cfll~"I'siIII

3) iSll('1lc6lc

3) The 'Raj Vallabh Mandan' is related to :-

1) Building related to temple construction
2) Related to the construction of idols of god
3) Related to construction of residential building

4) Construction of highway

3) '<I\JlCl#N ~' q)f ~ ~:-

1) ~ ~ ~ f.¥Ifur ~
3) f.fqm ~ ~ ~ f.¥Ifur ~

4) Which Rajput rular died in Burhanpur?

1) AjitSingh

3) RaiSingh

film ~ ~ ctt ~ ~<(;I'19><it rt?
l')~~
3) 'Ulr fm"

2) w:-n
4)~

2) ~\3lfctt tffif ~ ~
4) "{I"\J11:f~ f.¥Ifur ~

2) Karn Singh

4) JaswantSingh
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2) ~W:1I91

4) £r.mrr

TEV-T

5) The temple of 'Muchala Mahaveer' is located in :-

1) Ganherav

3) Nathdwara

5) '~ ~' ~ ftmf %:-
1) uf.fuq

3)~

2) Delwara

4) Mainal

22· • 4
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6) Which fort was named 'Khairabad' upon conquest by Ala-ud-din khilji?

1) Chittorgarh 2) Ranthambhor

3) Siwana 4) Lohagarh

6) i3HttIl3{j'1 ~ ~ ~ ~ qIT ~ Gf){ i3'W-fiT OWl ~ -mn?
1) fuB19JIq> 2) ~

3) fucrrorr 4) ('1ltsIJIq>

7) Who composed the Jugalman Charitra?

1) Dadu 2) Ramprasad

3) Ramcharan

7) ''&I~I~'1~' cCr "{iRT~ ctt?

1) ~

4) KrishnadasPayhari

3) ~llitHOI

8) The 'Dugari' style ofpaiIiting is associated with:-

1) Bikaner

3) Jodhpur
8) '~ ~'SIfRift, 'fiT ~ t":-

1) (lq)I~(

3) ~

2) ~lli5H"M

4) q5wl&m ~

2) Nathdwara

4) Bundi

2) w:rrtl&I~1

4) (efT
9) With which area are the dyleets 'Toravati', 'Katheda', Rajavati associated with?

1) Harroti 2) Mewati

3) Dhundhari 4) MaIwi

9) ~1~IClI€t, ~,(IIJIIc:u€l ~ COT~ ~ ~ ~ %?
1) ~ 2) itcmJt
3) ~ 4) ~

14)

-
11" •
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10) Whatis 'Dhingoli'?

1) One of the fasts observed by woman

2) Name of Ornament.

3) Name of dance

4) Name of marwari game

10) "~" ~ ~?
1) ft?r<:ITcor ~

3) ~ cor 'WT

11) The composer of 'Rao Jaitsi-ro. chhand' is i-

1) Beethu Suja

3) Pratap Singh

11) "wr ~ it~" $" ~ %:-
1) ~~

3) WIN ffi"Q
12) The temple of 'Bharmani Mata' is situated in :-

1) Dholpur

3) Kota

12) "~ lffiIT cor ~" ~ t:-
1)~ ,

3) Cf))cr

TEV-T

2) ~ cor 'WT

4) "l1(Cllli ~ cor 'WT

2) Kanhaiyalal Sethiya

4) DurgaDas

2) Cbo%41(T11M ~

4) 5>~ll&l("i

2) Udaipur

4) Baran

2)~

4) cmT
13) In which conspiracy case was Pratap Singh Barahath sent to prison?

1) Banaras Conspiracy 2) Lahore Conspiracy

3) Alipur Conspiracy 4) Meruth Conspiracy

13) WIN ffi"Q qmo eo) W ~ ~ $" ~ ~ ~ 11m?

1)~~ 2)~~

3)~~ 4)~~

14) Who founded the 'Marwar Hitkarini Sabha'?

1) Jainarayan Vyas

3) Manikya lal Verma

~ l"$dCfiIRoft ~ cor llQof ~ ~:-

1) 1J14'"l1{1401 cz:rn:T
3) JOlIfijl'3f4 ~ CFIf

2) Bhup Singh

4) Surajmal

2) ~ ffi"Q
4) ~<IJI"lM
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TEV-T

15) The Paropkarini Sabha was established in :-

1) 1893AD

3) 1895AI,

15) "q(Jq('.f)(RoTl ~17 ~ ~ Qt:-

1) 1893 t.
3) 1895 t.

2) 1883AD

4) 1885AD

2) 1883 f
4) 1885 t.

16) Who was appointed the 'Maharaj Pramukh' of 'Brahat Rajasthan' ?

1) JaswantSingh 2) UdaibhanSingh

3) .BhupalSingh 4) BheemSingh

16) ~ ~ CbT ~ ~ ..~ q.:rr<:[T 1'f<U:-

1)~~

3)~~

2)~iW
4) '4r:riW

17) Who established the 'Hindi Vidhya Peeth' inUdaipur?

1) JanardanraiNagar 2) GhanShyamdas

3) VijaySingh 4) KripalSingh

17) ~ -q '~ fc!~ql'fI6' c6r ~ ~ c6r?
1) ~ U<:J 0fl1'R

3) ~iW
18) 'Jasma Odhan' is related to which art of play?

1) Bhawai

3) Rammat

18) "~ i3TIsuT" CbT ~ ft6B ~ ~ ~ ~?

1) ~

3) ~

2) Gawari

4) Rasdhari

2) 1JqfT

4)~

19) On behalf of Bikaner state who signed the treaty of alliance with the British inMarch 1818?

1) Deendayal Sharma 2) Kashinath Ojha

3) Badri Prasad Sharma 4) TejpalMathur

19) ~ ~ c6r 0lR ~ ~ 1818 if ~ ~ m~ ~ ~ "CR ~ ~ ~?

1) eJ'"'Ie;ql(f1~1lll

3) q~!'Iflle; ~1lll
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TEV-T

20) The 'Gentleman agreement' is related to:-

1) Jaipurriyasat

3) Mewarriyasat

20) "Ji~<'I~1~" q)J tRr.Urm t":-
1) ~WmfflU
3) ~WmfflU

2) Jodhpurriyasat

4) Jhalawarriyasat

2) ~fum:rnu
4) $i I(iIEllS fum:ro if

21) Districts adjoining the international boundary of Rajasthan are -

1) Barmer - Jaisalmer - Churn - Hanumangarh

2) Ganganagar - Bikaner - Jaisalmer-Barmer

3) Barmer - Jaisalmer - Jodhpur - Bikaner

4) Barmer - Jolore - Bikaner -Ganganagar

21) ~ em ~;~pJ~4 ~U~ ~%-
1) ~ - Jifl(il~( - ~ - {tjill;:Pltf

2) ljlll':PI( - ~ - dl!('I(ilq( - ~

3) ~ - JJfl«1~< - ~ - ~

4) ~ - ~ - ~ - ·jJII;:PI<

22) Length of Aravalli mountain range within Rajasthan territory is approximately-

1) 692kilometre 2) 71Okilometre

3) 652kilometre 4) 550kilometre

22) ~ '1!-~.q ~ q4~ttlk'll em ~ Wfl1lT ~ ~?

1) 692 fch~illflc<
3) 652 TCbMilflc<

2) 710 TCbMilfle(

4) 550 fchMi4le<
23) 'Uparmal' forms part of which one of the physical divisions of Rajasthan ?

1) Southern mountainous 2) South-eastern Plateau

3) Karauli Plateau 4) Nagour Plateau

23) I3)Q<ttlk'l ~ Ft ~ ~ ~~T COT~ ~?

1) ~ ~ 2) ~-~ qm

24) Identify the correct sequencing, from West to East, of the lakes of Rajasthan -

1) Pachpadra-kailana-Balsamand-Rajsamand

2) Kailana-Balsamand-Rajsamand-Pachpadra

3) Rajsamand- Balsamand- Kailana- Pachpadra

4) Kailana-Balsamand-Pachpadra-Rajsamand
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TEV-T
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24) ~ it ~ COT~-:qq ~ ~ c5t ~ Btt ~ q~ijIH~ -

1) qijq~<1 - eol'lOH'I111- ell(t\f14~ - <1\JIfl4~

2) eol<Ol(t\HI - €41(t\f14& - {1\JIfl4& - q:qq&{I

3) (1\i'R1+1a:- ill I{fR1+1a: - etJl'QfflI"1I - QfNa:{1

4) eol<Olffll"1l - ilIl(i'H.=tqe:- qijqe:<1 - <1\lH'I~e:

25) Which is the longestriver flowing totallywithinRajasthan territory?

1) Mahi 2) Banas

3) Chambal 4) l.uni

25) ~ ~~ it ~ ~ ~ qffif ~ ~ ;rctt tf;:r-m %?
1) ~

3) ~

2) q-;:Jffi

4) ~

26) Districts inRajasthan recordedhighest variabilityof average annual rainfall-

1) Alwar,Bharatpur 2) Ajmer,Tonk

3) Jaisalmer,Barmer 4) Banswara, Dungarpur

26) ~ it ~ ~ qqf c5t ~ qRCld1!(W -31lclifsH1m crffi m~-
1) \3W1CR, ~ 2) ~, itF.O

3) $1f1W=1{, ~ 4) €4iflClI91, ~

27) What is the concrete solution of soil salinity and alkalinity ?

1) Rock phosphate treatment 2) Urea treatment

3) Gypsum treatment 4) Bentonite treatment

27) filft c5t ~ ~ ~ q;r oR:r ~ ~ %?
1) ~ ~ ~M 2) ~ !(M
3) ~!(TIwr 4) ~;il1l~c !(M

28) Forests extend over what percentage of total area of Rajasthan (March, 2011)?

1) 9.49 2) 9.55

3) 10.21 4) 7.68

28) ~ ~ ~ ~ ~ fcIx:R ma!(Rf ~~ 1R CATCOTfcrnm % (~, 2011)?

1) 9.49

3) 10.21

2) 9.55

4) 7.68
29) Major soyabean producing agroc1imaticzone of Rajasthan is -

1) HumidSouthemplain 2) Flood Prone Eastern plain

3) Humid South-Easternplain 4) Semi - arid Eastern plain

-
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TEV-T

29) ~ ChT ~ ffiiqlq"11~ ~ - ~ @JS ~ -

1) ~~£rc:R 2) ~~~~

3) ~ ~ - ~ ~ 4) ~ - ~ wff ~
30) Where in Rajasthan is the Central Camel Research Institute established by Indian Council of Agricultural

Research?

1) Kolayat 2) load - Beed

3) Suratgarh 4) Ramgarh

30) ~;) ~ ~ ~ ~ &m ~ IR ~ ~ ~ ~ ~ Tfi!OI1~?

1) chl&lliqC1 2) ~-~

3)~ 4)~

31) How many deer parks are there in Rajasthan?

1) 5

3) 4
31)~;)~~~?

1) 5

3) 4

2) 6

4) 7

2) 6

4) 7

32) Identify the correct sequencing, from South to North, of wildlife Sanctuaries of Rajasthan -

1) Jamwa Ramgarh - Sawai Man Sing - jawahar Sagar - Bhainsrorgarh

2) Jamwa Ramgarh - Jawahar Sagar - Bhainsrorgarh - Sawai man Singh

3) Sawai Man Singh - Jamwa Ramgarh - Bhainsrorgarh - Jawahar Sagar

4) Bhainsrorgarh - Jawahar Sagar - Sawai Man Singh - Jamwa Ramgarh

32) ~ ~ CI"i!OIZJfICI ~ ChT ~ ~ ~ c6t ~ ~ ~ q(;ql~ct?

1) \1fllCIT ~ - ~ '"I11m5 - ~ WR - ~flil9llq;

2) \Jfl1CIT ~ - ~ mTR - ~fl()9llq; - ~ '"I11m(;

3) ~~-~~-~fl(t9llif-~WR
4) ~'fl(t9llq; - ~·WR - ~ '"IHm(; - \Jfl1CIT ~

33) What is the ultimate irrigation potential of Indira Gandhi Canal project in Rajasthan?

1) 14.1 0 lac hectares

3) 16.10 lac hectares

2) 15.17 lac hectares

4) 19.63 lac hectares

1) 14.1O~~

3) 16.10~~

2) 15.17~~

4) 19.63~~
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TEV-T

34) Meja dam has been built on which river of Rajasthan?

1) Kothari 2) Mansi

3) Khari 4) Parwati

34) 1hrr cihl q)f f.F:riur ~ ~ ~ ;rm ~ frmrr TTm %?
1) ~ 2) l=fFffir

3) "@rfi 4) ~

35) According to Ground Water Survey 2011 what is the number of super critical dark zones in Rajasthan
exploiting more than lOOper cent of their ground water?

1) 115 2) 172

3) 120 4) 95

35) qq 2011 ~ 1t~ ~~ ~ ..~ ~ ~ ~ 1t~ cpr 100 '5Wl:'lKr"ft ~ ~ qffi ~ Rb€lCb(l1
SIt \1tR ctT rf&rr ~ %?
1) 115

3) 120

2) 172

4) 95
36) In which districts of Rajasthan is the slurry causing irrepirable loss to ecosystem and soil fertility as well?

1) Rajsamand and Udaipur

3) Jalore and Barmer

2) Ajmer and Churu

4) NagaurandBikaner

I) <1'J1f14~'~ ~

3)~~~

2)~~~

4)~~~

37) What is the root cause of land pollution in Indira Gandhi Canal command region?

1) Salinity and alkalinity of soil 2) Soil erosion

3) Disorganised drainage 4) Polluted ground water

37) ~ tm.ft m q)llJUS~ ~ 1t~ cpr ~ cmur qm %?
1) filtt ctT ('1qU~I!H11q ~ 2) filtt ~

3) [ePIRid iiH'lS1ql~ 4) ~ 'lt~

38) Maharaja Agrasen road route in Rajasthan forms part of-

1) Express Way 2) MegaHighway

3) NationaIHighway

38) ~ ~ '"I~I<1'J11 ~ ~ 1Wf 'l1JTr ~ -

1) ~CfB~fI it COT

3) ~:'lFRff ~ cpr

4) Super National Highway

2) ~ ~ Cfif

4) ~ ~:'lFRff ~ cpr

22- • 10
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TEV-T

39) Which of the following National Highways passing through Rajasthan possesses shortest length within
state territory?

1) National Highway No. 76

3) National Highway No. 12

2) National Highway No. 65

4) National Highway No. 11

39) ~ U ~ crr#J f.l~~futd <FiP·WITit u~ ~ it ~ q)1l ~ emtrT·lOJTlf ~-m ~?
1) ~~~76 2) ~~~65

3) ~~~12 4) ~~~11

40) Where are the major lignite coal deposits located in Rajasthan?

1) Palana, Kapurdi, Sonu 2) Palana,Augucha, Merta

3) Kapurdi, Merta, Sonu 4) Kapurdi, Merta, Palana

40) ~ it R'l''1I~G ~t ~ ~ com ~ %?
1)~,~,~ 2)~,~,~

3)~,~,~ 4) ~,~,~

41) Osteology is study of -

1) Bones

3) Muscles

41) '3fIf{c<.j)c!i)-';,' ~ % -

1) mm 'fiT

3) ~?or

2) Joints

4) Heart and blood vessels

2) ~ 'fiT

4) ~ ~ rcRf cHfuf.l41'fiT
42) Holes of bones through which blood vessels or neuron passes is known as-

1) Fissure 2) Foramen

3) Sinus 4) Spine

42) ~ ~ ~ NFrii ~ rcRf ell~f.:t<Oli ~ d~Cf)lct ~ t', Cf)tsMI~1t' -
1) ft5!/R 2) q)'l<I~'1

3) ~ 4) ~

43) The power house of cell is known as-

1) Endoplasmicreticulam

3) Golgibody

2) Mitochondria

4) Ribosome

43) ~ 'fiT!/Wffi-~ CbtsMmI t- -
1) 3Rl:~ \i11R'lCbI

3)~~
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TEV-T

44) Vertebral column formula of cattle is -

1) C7 Th'3 L6 S5 CO'8_20

3) C7 Th'3 L7 S3 C020-23

44) Tfr-~~T~ q~-3ft if q)~ ~ q)J ~ ~ -

1) C7 Th13 L6 S5 COI8_20

3) C7 Th13 L7 S3 C020-23

45) Which bone is not found in fore limb -

1) Scapula

3) Metacarpals

45) \3Uf-GTGif '1tf 1:fI<fr ~ cnW'm ~ -
l)~

3) ~CICf)Pif("1

46) True statement is -
1) Right lung is bigger than left lung

3) Both lungs are equal in size

46) OO~~-

1) ~~cttWRTif~~~imT%
2) mt ~·ctt WRTif ~ ~ ~ imT%
3) iAT~~if~~%
4) iAT~ if ~ ql~Cf)lct ~ %

47) A tendon connects -

1) Muscle to muscle

3) Muscle to bone

47)'~'~%-

1) "IiflCtfil # ~~ft
3) ~~ft#m

2) C7 ThI8 L6 S5 C015_2I

4) C7 Th13 L6-7 S4 COl6-18

2) C7 ThI8 L6 S5 CO'5_21

4) C7 Th13 L6-7 S4 COI6-18

2) Humerus

4) Metatarsals

2)~

4) ~cleIHif("1

2) Left lung is bigger than rightlung

4) Both lungs have equal lobes

2) Bone to bone

4) Ligament to bone

2) m#m
4)~#m

1) Pharynx

48) In the following which is not a part of digestive system -

3) Anus 4)

48) f."I~~f@~ if # ~-rm:~ ~-~ tOT 'qTlT '1tf % -
1)m=AT

3) ~

2) Spleen

Mouth

2) ~

4) ~
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TEV-T

49) Presence of hemoglobin in urine is known as-

I) Hematuria

3) Hemolysis

49) ~ if ffil1">I'~Rt1G15t ~ Cf)~(i\\ffi t- -
1) ~il~ql

3) ~l1l{1Ii1RH1

2) Hemoglobunaria

4) Pyurea

2) ~l1">I'~I9f.iR<:!1

4) ql9;R<:!1

50) pH of blood is generally-

I) 6.8

3) 7.4
50) ~ Cf)f pH (1liOfl;<Qct:mm % -

1) 6.8

3) 7.4

51) Nefron is the structural and functional unit of -

1) Liver

3) Lungs

51) ~ fi<'tI'1I~q) ~ f>b<:!I~q)~ % -
1) ~ ctT
3) ~ ctT

2) 7.0

4) 6.4

2) 7.0

4) 6.4

2) Kidney

4) Testes

2) ~ ctT
4) ~ ctT

52) When female is in heat the hormone became most active and effective is-

2) Oxytocin1) Progesterone

3) Testosterone 4) Oestrogen

52) llTGJ ~ mq (lFff) ij 3lR ~. ~ ~ ~ ~!(mm ~ cnm m+iR i- -
2) i3i'ICRfI<?IGl '1
4) ~@\il1

1) Silcii<il?H
3) a<i1<i1?t'1

53) The approximate age of puberty in goat is -

1) 4-12 months

3) 18-24months

53) ~ if 4lq'1I<''4 ctT i3ij"ll~ct i3iTg ~ t -
1) 4-12 ~

3) 18-24 ~

2) 6-18 months

4) 10-24 months

2) 6-18 tm"
4) 10-24 ~
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54) Oestrous cycle can be divided into -

1) 2 parts

3) 4 part

54) lfC:-~ em ~ \JfT WPm % -
1) 2 cqpTI if
3) 41WTI it

2) 3 parts

4) 6 parts

2) 3 'IWff if
4) 61WTI it

55) Insulin is secreted in -

1) Pancreas

3) liver
55) ~~'1 CfiT ~ iRrr % -

1) ~Tlf if
3) ~it

56)During pregnancy-

1) Level of estrogen became low whereas level of progesterone became high

2) Level of estrogen became high whereas level of progesterone became low
3) Level of both estrogen and progesterone became same
4) Level of both estrogen and progesterone became minimum

2) Stomach

4) Salivary glands.

56).~~m-
1) ~@\j"'{COT ~ tOll '\j'fGf fcfi mJi~ i1'1 CfiT ~ \3lfucp iRrr %
2) ~~l\i1'1CfiT ~ ~ '\j'fGf fcfi $tlJi~ iH CfiT ~ tOll iRrr %
3) ~@\iI'1 ~ $tlJt~?H it;fi CfiT ~ W1R iRrr %
4) ~@\iI'1 ~ SIlJi~()'1 it;fi CfiT ~ ~ .. iRrr %

57) According to animal census 2012 Rajasthan has India's total percentage of camels-

1) 62 2) 72

3) 82 4) 92
57) ~~ 2012 ~ ~ ~ it 'q'ffif il; ~ ~ CfiT~:im % -

1) 62

3) 82
58) Showing any work by doing it, is called

1) Demonstration

3) Rally

2) 72

4) 92

2) Campaign

4) Contact
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58) 00 'lft CfiT<f Cf5T ~ ~ Cf5T ~ ~-

1) >re:~R
J).)~

59) Largest state level animal fair in Rajasthan is-

1) Gogameri animal fair

3) Ramdevra animal fair

59) ~ if ~ Gf9T ~ ~ tf~ % -
1) JnJrllq~ tf~

3) <1'"I~cHl tf~

60) Audio aid is -

1) Radio

3) Cinema

60) ~ mtFf %-
1)~

3)~

61) Extension material on a single paper is known as -

1) Pamphlet

3) Folder

61) ~ ~ l:R ~ ~ C6MII<:1"j % -
l)~

3)~

62) In extension education number of steps is -

1) Three

3) Five

62) ~ fualuT ~ m-ur im ~ -
1) m.=r
3) qfq

2)~

! ~

2) Chandrbhaga animal fair

4) Pushkar animal fair

2) Television

4) Allof the above

2) e(T!lfclG11

4) ~'fMT

2) Leaflet

4) Bulletin

2) ~"jCf)(fJ c
4)~

2) Four

4) Six

2) ~

4) ~:

63) For the success of any program /scheme it is necessary-

1) Widerpublicity 2) People participation

3) Both(1)and(2) 4) None of the above
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1) Udaipur district

3) Jodhpurdistrict

64) 1:f!plURT 2012 ~ ~ ~ 1ft-chn %-
1) ~~if
3) ~~if

2) Nagourdistrict

4) Bikanerdistrict

TEV-T

63) ~ t:bl%'l / ~

1) a:n%"W.rR

3) ~ (1) q (2)

ca flq:)i:<1d I ~ fW:!: 0lTCr~~ % -
2)~-~

4) ~if"fr~-m~
64) According to animal census 2012 maximum number of cattle are in -

65) Disease occur in both male and.female animals -

1) Ketosis 2) Milk fever

3) Mastitis 4) Brucellosis
65) ~ Wr \JIl ~ -3fR l:fro ~ 1:f~\3itif qr<:JT \1ffiIT % -

1) Pcb2lfufl 2) ~ ~

1) Endemic disease 2) Enzootic disease

66) A contagious disease which spread in a specific manner in large number of animals of small area is -

3) Epizootic disease 4) Panzootic disease .

66) ~ ~fbl'lt:bWr \JIl ~ r§tE &)?rif q~\3it tt ~ "fi&n if fcr~~~ 'ir ~ % -
1) c%~t:bWr
3) qfq'4fet:b Wr

67) Gingivitisis-
1) Inflammation of tongue

3) Jntlammation of ears

67) '~fGlClI~fe('t'~ -
1) ~if~
3) CORif~

2) q~q;; Wr
4) q~t:b Wr

2) Inflammationofgums

4) Inflammation of eyes

2) ~if~
4) \3lfuJ if ~

68) Disease caused by disturbance in metabolism of carbohydrate and volatile fatty acid is -

1) Milk fever

3) Anemia

2) Ketosis

4) Pica
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68) GflliSllt>I~$c q qlo4lepd • ~ ~ 'qqq:qq if ~ ~ ~ ~ CffiiITWI t -
1) m~ 2) fcbilfBff
3) [(41filql 4) ~

69) Bleeding through natural holes/openings such as nose, mouth and anus is a specific symptom of -

1) Hemorrhagic septicemia 2) Black Quarter

3) Anthrax 4) Tetanus

69) !lrW ~ SlIi:[)fBCf)~ ~ '1fCl), ~ q ~ ~ ~ ~ fcrirq- ~ t -
1) ~ COT 2) Wf9T ~ COT

3) lf~ qrr 4) Rc;;rn COT

70) Black Quarter is caused by -

1) Clostridiumchauvoei

3) Pasturellamultocida

70) ~~mCOT~t-

" 1) #i't@f%qq ~

3) ql@1@QRlfusl

71) Hydrophobia is main symptom of -

1) Rabies

3) Cow-pox

71) '~I~ilq;)~~I'~ ~ ~ -

1)*C6T
3) ~-~ COT

2) Clostridiumtetani

4) Brucella abortus

2) #fl@fS~Q ~

4)~~

2) Rinderpest

4) Anaplasmosis

2) q~mCOT

4 ) [(Oil 'k'il::n:j) fuff COT

72) Which of the following disease is not a blood protozoan disease?

1) Anaplasmosis

3) Theileriosis

72) Pr'1~R9dif ~ ~ ~ WI.~ t -
1 ) [(Oil 'k11 iJ1 s:fl fuff
3) ~1~#IRqlfBff

2) Babesiosis

4) Salmonellosis

2) ~~fB41fBff
4) ffl~~M)fBff

73) Fracture with damage of surrounding muscles and blood vessels is -

1) Simple fracture 2) Compound fracture

3) Partial fracture 4) Singlefracture
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2) Pasteurization

4) Freezing

73) 0lm-1ffi1-tt ~ q ~ ql~Pt;'.i'i -tt affi'r i6 m~ iA ~ ~ % -
1) ~ ~ 2) Cb"4I'3<s ~

3) ~~ 4) fWRrr~

74) Autoclave works on the principle of -

1) Dryheat

3) Steam under high pressure

74) 'i3llelrfflq' i6 r.wf "CbT~ % -
1) ~ ('ffq

3) ~ ~ cnu:r

75) 'Lignocaine' is-

1) Antibiotic

3) Anesthesia

75) 'f&i<'1"I~ICn'i'% -
1) qZlCSl(4)RCb
3) R~-mrco

2) ql~flCb<OI

4) ~41Cb<OI

2) Antiseptic

4) Sterilizer

2) qZl€lfCtCb

4) Rn=itbQCb

76) Which of the following is not a non-absorbable suturematerial-

1) Silkworm gut

3) LIDen

76) Ptyf&iffsld if ~ \3l'i7.r!l~ 00 qmef offlf % -
1) m qp:f l1C

3) ~

77) Appropriate age of debudding in calf is -

1) 4-10 days

3) 4-6 weeks

77) ~ if f.i&.6ifflCfJIQ'1 ~ ~ ~ % -
1) 4-10 ~

3) 4-6~

2) Catgut

4) Silk thread

2) 4-6 months

4) More than 6 months

2) 4-6 ~
4) 6 ~ ~ i3lfuco

78) 'Trocar Cannula' instrument is generally used in cattle for the treatmentof -

1) Dystocia 2) Tympany

3) Oesophageal obstruction 4) TraumaticReticulitis
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1) [%(i\fch'4l ~

3) tf:~if~~
2) 3JT'Cf)U ~

4) ~'% ~reg){i1l{Rf1~

79) 'Docking' means -

1) Removal of hairs

3) Removal of hooves

79) 'sWm' ~ ~ % -
1) Gffiif ~

3) ~ q)fC"JT

2) Removal of horn

4) Removal of tail

2 ) -B'ftT q)fC"JT

4) ~ corc;rr

80) The wound produced by bullet or sharp pointed weapon -

1) Lacerated wound 2) Punctured wound

3) Incised wound 4) Contusion

80) ~ m ~ ~ qffi ~ ~ Wt CffiifT meT % -
1) ~ meT

3) ~ meT

81) Crude fiber in concentrate is generally -

1) 24%

3) 18%

81) ~ if (11¥iF4d: S@' ~ mar % -
1) 24%

3) 18%

82) Correct statement is-

1) In roughage crude fiber is more than 18% and TDNis less than 60%.

2) In roughage crude fiber is less than 18% and TDN is more than 60%.

3) In concentrate crude fiberis more than 18% and TDN is more than 60%.

4) In concentrate crude fiber is less than 18% and TDN is less than 60%.

2) 20%

4) Less than 18%

2) 20%

4) 18%~~

82) Btt CO?:Ff% -
1) ~if~~18%~~mnTDN60%~·~m% I
2) ~ if ~ ~ 18%~ ~ nen TE>N60%~ ~ mnr % I
3) ~if~~18%~~nen·'FDN60%~~mnr% I
4) ~ if ~ ~ 18%~ ~ nen TDN60%-« ~ mnr % I
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83) Calories produce by complete oxidation of one gram fat is -

1) 4.1 K.Cal. 2) 9.3 K.Cal.

3) 2.25 K.ea). 4) 6.1 K.O .

83) ~ IDll. qm ~ ~ IllTCffllCf)(OI ~ ~ ~ mID % -
1) 4.1 ~ ~ 2) 9.3 fcm;iT ~

2) Ber/Beri leaves

4) Neem leaves

3) 2.25M t-ffifr
84) Leaves have maximum TON -

1) Subabulleaves

3) Khejri leaves

84) ~ TON qffit ~ ~ -
1) ~ cCrqftr:iT
3) ~cCr~

4) 6.l~~

2) ~cCr~
4) .wr cCr~

1) 60% 2) 40%

85) In preparation of 'Hay' moisture in dried green fodder should not exceed-

3) 30% 4) 15%
85) '~' m if ~ ~:qft if 'llft cCrlJBJT ~;@ m-.ft ~-

1) 60%U

3) 30%U

2) 40%U

4) 15%U

86) In a good silage the conservation of feeding value of green fodder is -

22- • 20

(

1) 100% 2) 80-85%

3) 50% 4) 30-35%
86)·~ ~ ~ if ~:qft q)f~ llR ~ mm %-

1) 100%

3) 50%

2) 80-85%

4) 30-35%
87) Dried feed to be given to buffalo for per 100Kg. body weight is -

1) 1kg. 2) 3 kg.

3) 5kg 4) 7 kg.

87) ~ Cf)) ~ 100 fcfiJIT. ~rfu: 'Br: ~ ta:it \1fR c:W<:r w-n ~ c6r lJBJT ~ -

1) 1 fcfi.m.

3) 5 fcfi.m.

2) 3 fcfi.m.

4) 7 ~.m.
88) Enzyme which acts on starch and other carbohydrate

I) Amylase

3) Protiase

2) Lipase

4) All of the above
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88) ~ ~ ~ CblaiY(iI~~elR ~ ~ CffiitT q...."l~q ~ -

1) qlil~#l\l1 2) ~

') ,mftO;\l1 4 \ ~ ~

89) What percentage of fonnaline solution is used for cleaning ofAnimal Houses.

1) 10-12% 2) 7-9%

3) 2-5% 4) 1-2%

89) q-~~lTffi -tt ~ ~ ~ q:;1~"1 CfiT~ ~m ~fflm l6J1:f it ~ t I

1) 10-12%

3) 2-5%

2) 7-9%

4) 1-2%
90) How many poultry birds can be kept is deep litter system

1) 500 2) 1500

3) 1000 4) 250

90) tfq ~ ~ # ~ ~ ~ ~ -mlw.tffi %
1) 500

3) 1000
91) Which vaccine is applied to a 5-7 day old chick

1) Marek's disease

2) 1500

4) 250

2) Ranikhet disease

3) Fowlpox 4) Bursaldisease

91) 5-7 ft.:r ~ ~ 'ij ~ m tlCbICb(OI~ \iffiIT %?
1) ~~ 2) wfl@d~·

3)~~ 4)~~

92) Name of chemical which is use for chemical debudding of calves

1) Caustic soda 2) PotassiumNitrate

3) PotassiumPennanganate 4) All of above
92) ~ .q <('tI~~C6 fldtf -a ~ f\lR ~ rif;{ m ~ COll1 -q. fW:rr \jfffif % I

1) CbIReCbm.r 2) ~ ~

3) tfte~lqrt q~l~e 4) ~ tNt
93) Haem011'haaio~a vaccine in cows is done is the month of

1) Augush~ 2) May-June

3) November ••Dccember 4) March-April

93) -rrrm ~ ~.1l.tbIOl(OI ~ ~ \iffiIT % I

1)~-~ 2) ~-~

3)~-~ 4) lWi - ~
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94) Farrowing is -

1) Act of Parturition of ewe

3) Act of parturition of doe

94) ~~-

1) ~ij~~~

3) ~ii~tT~

2) Act of Parturition of sow

4) Act ofParturition of mare

TEV-T

1) Chokla 2) Nali

2) ~13rtTii "&Jf.f ~ ~
4) ~it~tT~

95) Which Rajasthani breed of sheep has finest wool

3) Sonadi 4) Malpura
95) ~ tT ~ lJtR ~ crnrft ~ tT ~ ~ -

1)~

3)~

2) ~

4)~

96) What is daily requirement of water in camel is -

1) 100liters 2) 20-40 liters

3) 60 liters 4) 70 liters
96) ik coT~ ~ ~ 1:JT4T q)f i3W.f!(~ mm %

1) l00~

3) 60~
97) Number of chromosomes in cow is

1) 60

3) 64
97) lWit it ~ tT ~ M ~

1) 60

3) 64
98) How many stages in metosis occur

1) 4 2) 5

3) 6 . 4) 3
98)~~ii~~~~

2) 20-40 ~

4) 70~

2) 62

2) 62

4) 54

4) 54

1) 4 2) 5

3) 6 4) 3
99) Father of Genetics is

1) Johenmendal

3) koch

2) Posture

4) Jenner
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99)~~mm~-

1) \JfR~

3) co'm
2)~

4) ~

100) Breeding in full sister and full brother is known as
1) Linebreeding 2) Close breeding

3) Out crossing (Crossing) 4) Back crossing

100)® ~ ~ if ~ ~ -ij # q<:Jf CflMlidl ~

1)~~ 2)~~

3) i3lF3C~ 4) ~~
101) In which breeding method are,can produce a new breed

1) Out +crossing 2) Cross breeding

3) In breeding 4) Grading up

101) c6Rm ~ ~ # 'Fft ornrr fro ctt \Iffift ~

1).:mc~ 2) ~~

3) ~ ~ 4) m {3lq"

102) Heretibilityshowsbywhich symbol

1) x2 2) h2

3) y2 , 4) d2

102) ~Rre~f(ij€lq;) ~.~ # G:~lffi~ ,
1) x2 2) h2

3) y2 4) d2

103) In RNA nitrogen base uracil replaces which nitrogen base

1) Adinin 2) Guanine

3) Cytocine 4) Th~

103) RNA if (uracil) <(.o~(I1fcIffi '11~~\l1'1~ in ~ 'tR mm ~
1) ~ 2) ~

3) fll~c?J~'1 4) ~

104) Who gave modal of DNA

1) Robart koch

3) Evans
104)DNAcnr ~ ~ ~

1) wfc q;)q

3)~

2) Shenmark

4) Watson-crick
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2) Bitch
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105) Which female has 'l-shaped uterus

1) Cow

3) Mare 4) Goat
105) it (T) \3TIGf5R COT TMf~m W ~ # l:IFrr.~ ~

1) TTm 2) ~

3) ~ 4) ~

2) '1wf14<1

4)~

106) In which from following the cotyledon type of presents is not found

1) Mare 2) Cow

3) Goat 4) Sheep

106) ~ 1) "ft ~ cilRRrtiH w.pf{ c6t \ifC ;@ tnm \ifRft ~

1) ~ 2) TfT(:f

3) ~ 4) ~

107) Female who never conceived is know as

1) Unipera 2) Nullipera

3) Primipera 4) Pluripera

107) ~ 1{feJ \JIl ~ ~ -m- iffit ~ CfRHYlidl ~

1)~

3) SlI~414<1
108) In cow Bang's disease is also known as

1) Brucellosis

3) Trichomoniasis

108) 1Wif # ~ ~ cffi" ~ ~

1) ¢LfIJOfft \l1
3) <;1{chl~"\I~fu\l1

109) In Dog sitting type of dystocia are found

1) Forword extention of hind limbs

3) Head in between the forelimbs
109) irT fufbT ~~f4:iql 1) ~ ~ ~

1) q-~~ qrGJ COT -3Wr ctt ~ I31RT

3) fm: COT -3Wr qffl tm ~ .~ # I31RT

110) Hormone secrete from the corpus luteum is

1) Estrogen

3) Progesterone

2) Vibriosis

4) Leptospirosis

2) fel~<oi)fuiJ1
4) ~i)("qI~(!fuB

2) Backword extention offorelimbs

4) All of above

2) .:mr l:f?J COT qm ctt ~ i3lRT

4) ~wfr;@

2) ISM

4) L,M
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lIO)~ ~"fr ~ ffl cmrrr ~ ~
1) ~©\i1'1

3) mJi«:(r'1
Ill) Longer stage of Estrous cycles is

1) Di-estrous

3) Met estrous

111)~-~ rtt ~ ~ ~ %
1) ~-~

3) l)c-~

2) ~.~.~ (ISM)

4) L,M

2) Pro-estrous

4) An estrous

2) m-~
4) ~-~

112) For Artificial insemination aministraw has how much semen

1) l.2ml 2) 0.5ml

3) 0.25ml 4) l.Oml

112)~~~R~~~~if~~ctt~~% I

1) l.2ml

3) 0.25m1

2) 0.5ml

4) 1.0ml

113) The study of source and identification of medicine is known as

1) Pharmaco-dynamics 2) Pharmaco-kinetics

3) Pharmacognosy 4) Pharmacy

113)~ if ~ ~ q~ilI1~ ~ ~ fctir ~ ~.~ ~ ~-
1) ~ sl~1fl1cru

3) IOflliftbli'1lm
114) In prescription slip b.i.d means

1) Twice in a day

3) Onceinaday

114) ~ ~ if ~.~.~. C6T0ld% -

1) ~ ii aJ ~
3) ~ii~~

2) ~ Cf)114~R:CR1

4)~

2) Thrice in a day

4) None of them

2) ~iim~
4) .~ "fr~ Oftf

115) Medicine which are increase the salivation are known as

1) Starnachics 2) Stimulants

3) Sialogogues 4) Tonics

115)~ \ill ffllHbllCiOIFffi ~ % - Cf)~(i1I\1"1% -
1) R14f#t\i1 2) ~~(f\Zfl

3) fll~(I1'J<n.m 4) ~
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116) In which part of prescription slip it is indicated that when and how to take medicine

. 1) Superscription 2) Inscription

3) Subscription 4) Signature

116)~ ~ t ~ 'q'JlT it ~ ~~T mar ~ fct ~ ~ I3fu: ~ #Rr ~ I

1) Tocolytes 2) Echobolics

2) ~~Ff

4) fBll~:q<
117) Medicine which are relax the smooth muscles of uterus is known as

3) Aphrodisiacs 4) Diuretics

117) it ~ 'it 1Mf~~ c@ ~ Gfu<:I1 coT ~ ~ ~, 4'l6~lffi ~ I

1) 2lcbl~I{~(1

3) l{Sllsl{fBCR't
2) ~4'lqlf1tCR't
4) SI{<D:€lCR't

118) Increase the Haemoglobin level in blood which medicine is used

1) Haemotinics 2) Haemostatic

3) Galactogogus 4) Coagulants

118)~ it fulil·(.ri\I~'1CfiT ~ ~ t ~ fclffi '5fCfiR c@ ~~. it m ~ ~ I

1) fulilRPtCR't
3) ~#pcllnll(1

119) Best antidote for Snake Venom is

1) PotassiumPermanganate

3) PotassiumNitrate
119)~ ~ ~ c@ ~ ~ >ffi1~ ~

1) ~ ql(ii'~c

3)~~

2) fulil&:€I4'l
4) coT3ftJI#lz(1

2) Potassium iodide

4) Potassiumhydroxide

2) ~ >3t1<:i'h11~s

4) ~ tH~~ICR'tI~s
120) Which mineral compound given to animal for help in formation ofVit B 12 is body

1) Ferric chloride 2) SodiumChloride

3) Cobalt Chloride 4) PotassiumChloride
120) ~ '?r mg; CfiT <itfTrcnq~ coT ~ % ~ ~'lfR it Pc! elf?!'1 ~ -12 ~ f.r:ITuTit (1614d1 ftrffift ~ -

1) ~ #tl<l{s

3) ~ #tl<l{s

2) BIi%4R #t1<I{S
4) ~T4ll#tl<l{s
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